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S 1. £ 15 = = = T4 3,000 13 000[12 5% K7
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AFE1 T2 6 FERBBETRENOLOMBAERER (BPHR)
KEAERE ERBERE
s REENERE | ROLMERE | REENERE
No. £ ¥ wark | MER | K& (FOE|akm mAk® BWE BE  SS i il B+ = Ri %
(m) (m) | (em (B  (mg/L) d d o] e e
134CS 137CS 134CS 137CS 134CS 137CS

630 [#87%th ABH H26.10. 14| = 1.35 0.90 0.10 83 11 8 <1 <1 - - 6 66 2,200 1,000[E 52
631 | Eith A H26.10. 14| = 0.22 0.50 0.10 13 26 39 < < - - 10 62 1,300 3, 800|512
632 |fEfRith ity H26.10. 14| K& 0.22 0.20 0.10 83 17 48 < < - - 10 10 3,100 9,900[&E 52
633 |[£Vith BREIH H26.10. 15| K& 0.21 0.80 0.10 12 2] 34 < < - - 1 62 2,200 6,800[25 2
634 S5t AEH H26.10. 15| B& 0.45 0. 60 0.10 11 43 42 < 1 <1 < 9 51 2,800 8, 900288
635 [Jtpmith il H26.10.15| K& 0.12 6. 00 0.50 9 100 100 <1 <1 - - 8 53 990 3, 300288
636 |ELKith il H26. 10. 15 & 0.28 0.40 0.10 17 26 31 <1 <1 - - 5 21 170 50|=EE
637 |3 dnith il H26. 10. 15 H 0.33 0. 60 0.10 25 22 19 <1 <1 - - 6 52 1,000 3, 200|288
638 |Aith BB H26.10. 12| K& 0.23 0.80 0.10 10 42 51 < < - - 10 55 1,000 3, 200|E 52
639 |#hiRiRith BEIT H26.10. 12| K& 0.39 0.90 0.10 51 4 6 < < - - 12 56 1,100 3, 400|252
640 [HEFith BREIH H26.10. 15| K& 0.10 0. 60 0.10 18 23 21 < < - - 5 26 650 2,100[&E 52
641 |[+E M AEH H26.10. 15| K& 0.27 0.80 0.10 26 21 29 < < - - 5 11 1,700 5 300[2 88
642 RO il H26.10. 18 | fRES 0.23 0. 60 0.10 69 5 4 <1 <1 - - 5 49 1,300 4,000[28 8
643 (=DM il H26.10. 18 | tREH 0.22 0. 60 0.10 15 36 30 <1 <1 - - 6 48 1,600 5 300[2 858
644 |chFTE A il H26.10. 18| K& 0.09 0.60 0.10 33 14 14 < < - - 6 54 680 2, 20058
645 |FEAHM il H26.10. 12| K& 0.12 0.90 0.10 63 9 8 < < - - 8 43 530 1,700/ 58
646 |55 ith BEH H26.10. 11| HRES 0.11 1.00 0.50 10 6 6 < < - - 1 58 1,600 5 000[&ES2
647 [E& BREIH H26.10. 17| B& 0.18 0. 60 0.10 65 8 8 < < - - 3 51 890 2, 7100|252
648 |[HEKih il H26. 10. 11 [ 0.35 1.00 0.50 34 11 12 <1 <1 - - 12 64 2,800 8, 900288
649 [Fa1:t AT H26.10.17| = 0.11 0. 60 0.10 29 11 20 <1 <1 - - 10 56 1,400 4,400|2 B8
650 [FrEfarith AEH H26.10.17| B 0.09 0. 60 0.10 21 21 20 <1 <1 - - 10 53 420 1,300[f2 B2
651 [Zith il H26.10. 18| K& 0.07 0.60 0.10 33 11 11 < < - - 10 66 340 1,200z 8
652 |=ith BB H26.10. 16| & 0.19 0.40 0.10 2 35 28 < < - - 10 65 1,800 5 500[&ES2
653 |PIZE M BREIH H26.10. 15| B& 0.13 0.40 0.10 1 44 38 < < - - 9 66 510 1. 600258
654 [ERFN: AEH H26.10. 16| B& 0.16 0. 60 0.10 5 40 38 < < - - 8 66 1,600 5 200[2 88
655 |dhith AT H26.10.16| = 0.16 0. 60 0.10 9 64 57 <1 <1 - - 8 63 120 2,400|2 B8
656 |#ith il H26.10.16 [ ©R 0.16 0. 60 0.10 42 9 6 <1 <1 - - 9 63 1,300 4,100[2 858
657 |3ith ABH H26.10.16| = 0.14 0. 60 0.10 17 26 24 <1 <1 - - 10 53 440 1,402 B2
658 [dEith ABIm H26.10. 16| K& 0.12 0.60 0.10 11 26 23 < < - - 10 58 420 1,300z 58
659 |{ith BEIT H26.10.16| = 0.08 0.70 0.10 20 23 21 < < - - 6 62 650 2,000[E52
660 |ERHAith BREIT H26.10. 15| = 0.11 0.40 0.10 53 19 40 < < - - 1 49 270 B40[EB R
661 [ KAt A& |H26.10.17] ™ 010 040 010 57 5 8 < < = = 9| 58 590 1. 900{a B2
662 |;mith AT H26.10.16| = 0.09 0. 60 0.10 20 17 17 <1 <1 - - 10 64 240 TN0EER
663 = 7xith ABIm H26.10.17| B 0.09 0. 60 0.10 28 11 14 <1 <1 - - 1 41 40 110[E& 5
664 [4FHth il H26.10. 16| K& 0.06 0.60 0.10 25 27 27 < < - - 2 27 <10 N[ESE
665 | 3 Rith BB H26.10. 17| = 0.09 0.60 0.10 5 37 35 < < - - 9 47 170 SM0|EEE
666 |JIIE:th BEIT H26.10. 17| K& 0.10 0.80 0.10 8 31 30 < < - - 1 30 10 20285
667 |HERH BREIT H26.10.17] B& 0.08 0.40 0.10 8 10 64 < < - - 10 52 180 580[E B
668 |+ &M AEH H26.10. 14| = 0.22 0.90 0.10 24 16 18 <1 <1 - - 10 69 2,200 1,000|E52
669 [ZEH AT H26.10.14| = 0.58 3.00 0.50 56 9 9 <1 <1 - - 10 61 6, 000 19,000{1E &2
670 [5hFEpith il H26.10.12| = 0.50 1.00 0.50 60LL.E 2 3 <1 <1 - - 5 40 660 2, 100|518
671 [ Epith BB Nm H26.10. 12| = 0.11 0.90 0.10 40 5 8 < < - - 2 58 1,700 5 300|ES R
672 |ZEARM ity H26.10. 10| K& 0.45 0.90 0.10] 60LLE 2 3 < < - - 0 75 4,900 15 000/t &
673 |iZFiRit BREIT H26.10. 10| B& 0.37 0.90 0.10 60LlE 2 1 < < - - 0 43 2,200 6, 800252
674 |3t Eillln H26.10. 11| tRES 0.44 0.80 0.10 42 11 14 < < - - 2 50 2,100 6, 900[2 88
675 |#rith Ficillhg H26.10. 11| fRES 0.43 0.90 0.10 36 11 19 <1 <1 - - 12 64 630 2, 100[2 88
676 |figHAth AT H26.10. 11| fhEE 0.19 1.20 0.50 46 9 8 <1 <1 - - 12 54 1,800 5 600|288
677 |#ith AW H26.10. 11| 1REE 0.15 0. 60 0.10 48 10 15 <1 <1 - - 12 62 3,100 9,800z B2
678 | R BB H26.10. 10| K& 0.43 0.70 0.10 44 1 1 < < - - 12 57 3,700 12,0002 58
679 |Kith Feictllhg H26.10. 10| B& 0.14 0.80 0.10 35 14 11 < < - - 1 29 960 3, 100|852
680 [FEith BEH H26.10. 11| fREF 0.22 0.90 0.10] 60LLE 1 5 < < - - 12 51 1,600 4,900[%E 52
681 |i&/ Aith il H26. 10. 11 [ 0.28 0.80 0.10 60LlE 3 3 <1 <1 - - 12 69 1,500 4,800[28 8
682 |%feith Ficillng H26. 10. 11 [ 0.23 0.90 0.10 57 6 5 <1 <1 - - 10 46 1,400 4,500[2 88
683 |Hnith AT H26. 10. 11 & 0.19 1.00 0.50 60LL.E 3 2 <1 <1 - - 1 40 210 6/0|85 8
684 [3nEith il H26.10. 10| K& 0.63 0.90 0.10 43 1 6 < < - - 2 60 4, 600 15,000/ &8
685 |/\/ Oith ity H26.10. 10| K& 0.46 .20 0.50] 601k 3 2 < < - - 2 69 2,900 9. 100[&E SR
686 | X 4 iRith BT H26.10. 10| B& 0.59 .00 0.50] 60LLE 4 2 < < - - 0 47 1,900 5 900[&ES 2
687 |REMI BREIT H26.10.10] B& 0.40 .80 0.50 18 19 18 < < - - 2 62 3, 600 11,000[= 52
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KEAERE EHRERE
No. & WEA | RER | KR | TRME | agm kg | EEE O BE SS ol Bt ol IS iE EHEEK e
T m) (em (B me/b) (Ba/L) (Ba/L) P S (Ba/ke)
134CS 137CS 134CS 137CS cm 134CS 137CS
688 |{AHH;th ABIH H26.10. 17 [ 0.08 0.10 0.10, 60LLE 5 5 <1 <1 - - 5 26 20 NEEE
689 [ XM BEIH 261014 B 031 ] 090 010 10 78 36 < < - T f0 ] 51 1500 4600m&R
690 [#rt BENG | M6.73 | & 022 080 010 34 2 % < < - - 51 38 1600 4 600[mEE
691 [35ith ABIH H26.7.3 = 0.14 0.80 0.10 32 3 10 < < - - 6 24 50 130[EE 8
692 |t#Eith BE)IH H26. 6. 23 fE 0.11 0. 60 0.10 28 3 20 < < - - 8 47 1, 200 3,600[EE 2
693 [iE/KH:H BEIH H26.6. 27 fE 0.25 0. 60 0.10 49 8 5 <1 <1 - - 10 60 1, 300 3,800[EEE
694 [HZ&ith ABIH H26.7.3 5l 0.16 0.80 0.10 84 5 4 <1 <1 - - 8 43 950 2,800[t2 B8
695 |Fmith BABIIH H26.6.23 | tREEF 0.10 0. 60 0.10 53 5 4 <1 <1 - - 1 43 220 TS
696 |{—3t:8 BENG | 6623 010 050 010 64 § 2 < < - - 7149 470 T A00[eB R
697 [E1ith AE)IH H26. 6. 23 & 0.10 0. 60 0.10 62 5 4 < < - - 6 60 240 190[EE R
698 |&h AE)IH H26.7.3 = 0.12 0.80 0.10 68 9 10 < < - - 4 51 310 880|E B8
699 |[H&IFith BE)ITH H26.7.3 [ 0.17 0. 60 0.10 24 17 13 < < - - 10 40 590 1,800/ 2B
700 |[#Ei5;th BEIH H26.7.3 [ 0.15 0.80 0.10 40 9 6 <1 <1 - - 8 71 1, 600 4,000[EE 2
701 |BE BABIIH H26. 6. 23 [ 0.10 0.40 0.10 50 38 63 <1 <1 - - 2 38 430 1, 100|285
707 [REE BE)IG | 6624 B 015 050 01060 6 1 < < - - 2149 7100 3 200[Ek
703 |7 s BENIG | M6624] &= 045 050 010 9 ] 5 < < - - 3T 78 230 13005k
704 |$nith BE)IH H26. 6. 26 fE 0.31 0.90 0.10 46 10 6 < < - - 8 59 2, 300 6, 200[1EE 2
705 |$riRith BT H26. 6. 26 [ 0.58 0. 40 0.10 55 8 9 < < - - 8 56 4,700 13, 000|2 B8
706 |#:Hth BEIH H26. 6. 26 [ 0. 46 0. 60 0.10 46 9 12 <1 <1 - - 6 60 2,900 8, 200(EE 2
707 |BUF/ K BABIIH H26. 6. 26 = 0.33 1.50 0.50 45 8 2 <1 <1 - - 8 58 4, 400 12,000[t2 B8
708 |BF BABIH H26. 6. 26 [ 0.45 0.90 0.10 57 8 6 <1 <1 - - 4 60 5, 200 14,000/ B8
709 [3BA 2 Ao BE)IH | M66.26 ] B 020 090 01050 7 6 < < - 70 56| 2800 8.000[EE
TI0 [ %8 BENG | M66260] & 020 07001040 g 8 < < - - 81 5/ 3300 0.800[EE
INEES BE)IH H26. 6. 27 = 0.12 0.50 0.10 25 15 13 < < - - 4 49 500 1,400[2 B8
712 [FOAth BEIH H26. 6. 27 & 0.42 0.30 0.10 28 15 24 < < - - 4 21 150 A40[EE R
713 [rat AENH | H26.6.25 | = 0.69 | 0.70___0.10__60BLE 1 1 < < = - 7] 38 7,700 7.000[te58
714 Rt BABIIH H26. 6. 24 5 0.42 0.50 0.10 30 15 18 <1 <1 - - 4 54 3,000 8,500[t2 B8
715 |FH ABIIH H26. 6. 24 5 0.53 0.50 0.10 33 18 14 <1 <1 - - 3 44 4, 600 13,000|t2 B8
716 B 500D BENIG | 6625 051 | 050 010 60BLE 5 5 < < - - 6] 56 1800 4 J00[mBE
117 |Bi5ith@ ABIIH H26. 6. 25 & 0.47 1.20 0.50 60LLE 3 2 < < - - 7 51 1, 500 4,300|28 8
718 [88%th AE)IH H26. 6. 25 = 0.70 0. 40 0.10 82 4 4 < < - - 2 63 3,500 10, 000[f2 &1
719 [Feith BE)ITH H26. 6. 25 = 0.59 0.40 0.10 63 4 9 < < - - 2 71 5,100 15,000/ B &
720 [#githD BEIH H26. 6. 25 & 0.54 0.30 0.10 604t 3 1 <1 <1 - - 2 69 3,900 11,000/ B8
721 [#Eith@ BE)Ih H26. 6. 26 [ 0.68 0.30 0.10 51 8 29 <1 1 <1 <1 3 38 490 1,400/ 28
127 R0 BEIIG | MW6624] &= 020 050 010 75 y 3 < < - - 31T 50 2400 700K
723 [/ B8 BENIG | M6624] & 050 | 050 _0.10 60BLE 4 1 < < - - ST 4 780051005
124 |HE L BE)IH H26. 6. 24 ) 0.47 0. 60 0.10 34 12 6 < < - - 8 60 , 300 3,900|2E 8
125 |&Ri5ith BE)IH H26. 6. 20 ) 0.24 0.70 0.10 70 4 6 < < - - 5 26 220 690[{EE R
726 | EFRHEH BEIH H26.6. 19 ) 0.18 0.90 0.10 75 8 19 <1 2 <1 <1 3 18 30 W[EEE
127 |FE/ Aith AT H26. 6. 20 = 0.21 0.70 0.10 58 6 6 <1 <1 - - 3 64 3,200 9,300({EE 2
728 |ILiFxith BBIIH H26. 6. 20 = 0.17 1.20 0.50 63 6 5 <1 <1 - - 3 66 3,900 11,000|t2 B8
729 [RAH BENG | M6619] & 037 090 010 30 20 i < < - - 31 5/ 3000 8 /00[EE
730 [t BENG | M6619] & 013 040 _0.10__ 5 2 18 < < - - 5130 40 Y]
131 [Frith AT H26.6. 19 = 0.29 1.20 0.50 57 6 3 < < - - 3 34 40 10[EEE
732 |#DiR 3t BEIH H26.6. 19 = 0. 36 — — — — — - - - - 3 43 1, 400 4,100|F5 B2 FRAERE KO ERAKF A
733 [Evith (353) BEIH H26.12. 4 & 0.30 0. 60 0.10 18 29 21 <1 <1 - - 5 62 1, 600 5,300[t2B 8
734 [Evith (551) AEH H26.12.4 = 0.31 0.80 0.10 23 16 15 <1 <1 - - 7 53 1,100 3, 700[{EE 2
135 [DILAR 1E# BE)Ih H26.12.4 = 0. 26 0. 60 0.10, 60LAE 1 1 <1 <1 - - 2 61 660 2,200[1EE 2
736 [/ Pty BENG | M612.4] i 050 | 050 0.10 60LLE 3 2 a 3 - - 31 69 5100 17.000[BE
131 :7]3’@.@ ABIH H26.12. 4 % 0.41 — = — — — - - - - 5 4 120 2,500|2 B8 FAEREKOVER <ERKFR ]
738 | ZAHithD BT H26.12. 4 = 0.33 - - - - - - - - - 5 59 3, 000 9, 100|EE 8 AERE KR CERAKF A
739 |iEith BEIh H26.12.6 [ 0. 46 0.40 0.10 93 5 5 <1 <1 - - 3 50 1, 600 5 100|FE B2
740 |FREAth BEIh H26.12.5 s 0.27 0. 60 0.10 60LLE 2 3 <1 <1 - - 8 49 180 590[EEE
741 [t BBIIH H26.12.6 [ 0.36 0.40 0.10 41 6 12 <1 <1 - - 5 43 680 2,300{EE 2
747 |23 BENG | W6124] &= 055 [ 050 010 48 § 3 < < - - 1150 830 2 700/ 58
743 (11 P BENG | M612.4] = 049 040 010 62 § 5 < < - T2 77 4400 T14000[mSR
144 M AR AE)IH H26.12.5 & 0.34 0.50 0.10 8 100 65 < < - - 8 54 1, 700 5 400|2 B8
745 [REhith@ AT H26.12. 4 = 0.20 0.50 0.10] 60LAE 1 1 < < - - 3 57 1, 600 5 400|2E 8




AR T2 6 FEEBIETREND-OMBAELFR (RPHX)

KEATEHR EERAERER
: T . B i1 IR | o =
No. % ¥ CuSv/h) %:\':3* ’?ﬁf (rnSg/SL) (Ba/L) (Ba/L) B E"(iz)ﬁ (Ba/kg) R
]34CS ]37CS ]34CS 137CS (Gm) 134CS 137CS
746 | ED H .12.4 = 0.32 0.70 0.10 16 24 <1 <1 - 8 51 1,200 4,000
147 |[EFith (54) H .12.5 [ 0.12 0. 60 0.10 601 E 1 < < - 10 58 1,100 3, 800
748 |[EFith (5 1) H 2.5 [ 0.10 0.70 0.10, 601 E 1 < < - 9 67 290 910
749 [[E¥Fith (E2) H .12.5 [ 0.09 0.70 0.10 4 2 < < - 8 64 370 1,100
750 [#:8th H .12.5 [ 0.12 0.80 0.10 30 15 < < - 6 37 220 680
751 |Frith H .12.5 [ 0.12 — — — — - - - 5 46 200 570 SAEREKHAE FRKFA
752 |[HEt H L 12.4 = 0.09 0.50 0.10 38 11 <1 <1 - 3 24 30 90
753 |EEE bl .12.9 [ 0.18 — - — — - - - 6 23 30 100 BB KAE KA AL
754 [=with (82) il .12.5 [ 0.16 0. 60 0.10 36 13 < < - 8 61 470 1,700
755 [t (B8 2) H 2.4 ) 0.47 0.60 0.10 48 4 < < - 10 61 200 640(42
756 [ EAM (B52) H .12.5 [ 0.19 0.40 0.10 24 20 < < - 5 58 670 2,100{%2
757 [EAM (1) H .12.5 [ 0.23 0.80 0.10 17 21 < < - 8 41 610 2,000
758 |& Rt il .12.9 = 0.12 0. 46 0.10] 60LLE 6 <1 <1 - 10 59 4,200 14,000]%&
759 [IIF K H .12.5 [ 0.20 0.60 0.10 14 32 <1 <1 - 7 49 280 890(12
760 [AEEMM (E2) bl .12.5 [ 0.09 0. 60 0.10 55 9 < < - 10 48 240 780(%2
761 |HEBHEM (1) ™ .12.5 [ 0.08 0.80 0.10 35 17 < < - 9 53 210 [
162 | ™ .12.8 [ 0.12 0.37 0.10 40 6 < < - 5 34 330 1,000|%&
163 [#ithd ™ .12.5 ) 0.36 — — — — - - - 6 53 20 80(%8 SAERKHAE EKFA
764 %lﬂ@ o H .12.5 HE 0.50 — — — — — - - - 6 55 2,500 8, 200 Eﬁiig?(ﬁ§§ < ﬁﬂ}z*ﬁ
765 A LL; H .12.4 5 0.95 — — — — - - - 5 59 810 2,600(%2 SAERKAE KA
766 |fHaEmith H .12.5 [ 0.08 0.50 0. 33 7 13 <1 <1 - 9 61 320 1,000]/%&
167 [[Amith ™ .12.5 (5 0.27 0.80 0. 32 11 12 < < - 5 45 900 3,100(%2
168 | Kkiht il .12.4 ) 0.07 0. 60 0. 36 6 6 < < - 9 56 180 670|128
769 [FR:hith ™ .12.5 [ 0.28 0.50 0. 601 E 4 4 < < - 12 62 4,000 13, 000(%2
770 [XEiEH H .12.4 = 0.32 0.70 0. 43 10 10 < < - 6 46 1,300 4,100{%8
11 [t H .12.5 [ 0.12 0.60 0. 62 5 5 <1 <1 - 1 51 750 2,500
772 [ILE H .12.4 = 0.35 — — — — - - - 5 55 1,800 5, 600(%2 SAERKHE KA
113 |#Frt il .12.4 = 0.34 0.90 0. 47 6 3 <1 <1 - 8 49 2,600 8, 500{%2
114 [iE&R:th il .12.4 ) 0.54 0.50 0. 58 7 12 < < - 12 76 370 1, 30048
115 |#hith Ll .12.5 [ 0.09 0. 60 0. 80 4 5 < < - 10 68 1,900 6, 100{#2
776 )11t H .12.5 [ 0.10 2.10 0. 60 4 3 < < - 6 54 1,000 3, 400{%8
777 Dlhrsm H .12.5 [ 0.18 0.60 0. 61 6 10 < < - 5 46 790 2,700{%8
718 [E@EM H .12.5 [ 0.34 0.70 0. 63 6 5 <1 <1 - 8 50 1,400 4,500
7719 [f8Hth H .12.4 = 0.09 0.30 0. 8 80 410 <1 <1 - 4 65 610 2,000{%2
780 [i=[Rith il .12.4 ) 0.07 0.30 0. 35 8 25 < < - 5 26 50 150(48
181 |iZE il .12.4 ) 0. 06 0.50 0. 30 10 7 < < - 6 58 280 970|%8
182 | A/t Ll .12.5 [ 0.24 0.40 0. 601 E 1 1 < < - 12 67 1,300 4, 300(%2
783 [7<EFith H .12.8 [ 0.12 0.42 0. 22 10 12 < < - 10 44 430 1,400|%&
784 |EEREUR M H .12.6 [ 0.30 — — — — - - - 6 50 510 1,700]/%8 SAEREKHE EKFA
785 [p#ith H .12.5 [ 0.47 0.50 0. 60LLE 3 2 <1 <1 - 4 71 6, 600 22,000{%2
786 [gEi5ith il .12.8 | iREE 0.08 0.55 0. 25 4 5 <1 <1 - 10 62 340 1,100/4&
187 [:Bi5ith il .12.6 [ 0.34 0.40 0. 28 12 17 <1 <1 - 10 54 2,100 7,000(%2
788 |1l H . 12.4 ) 0.37 — — — — - - - 5 54 1,700 5,600|%8 SAEBKAE KA A
789 [ H .12.5 [ 0.09 0.30 0. 33 14 21 <1 <1 - 5 46 <10 20|48
790 [#ERth H .12.4 [ 0.23 0.90 0. 58 6 8 <1 <1 - 12 71 11,000 36, 000{%2
791 [/higith H .12.4 = 0.07 0.60 0. 45 7 6 <1 <1 - 10 64 290 1,000/%&
792 [ A/ AR H .12.5 [ 0.08 0.60 0. 58 2 4 <1 <1 - 3 60 740 2, 400{%2
793 | Z A&+ H .12.5 [ 0.09 0.30 0. 70 3 6 <1 <1 - 9 61 480 1,600]/4&
794 |+ =1fith il .12.5 [ 0.37 0.40 0. 33 8 11 < < - 12 59 3,300 11, 000(4@
795 [#R/\Ath Ll .12.4 = 0.08 0.20 0. 60 8 13 < < - 5 43 100 300(42
796 | Kt Ll .12.4 ) 0.36 0.40 0. 48 1 1 < < - 6 32 350 1,200|%&
797 [H#FED H .12.6 [ 0.49 0.80 0. 63 6 1 <1 <1 - 4 36 830 2, 800(%2
798 [MIXith H .12.6 [ 0.19 0.70 0. 34 11 11 <1 <1 - 1 52 1,600 5,300{%2
799 %ﬂtt’?’?ﬂﬂl@ H .12.5 [ 0.47 0.50 0. 61 4 4 <1 <1 - 6 47 1,200 4,100{%2
800 [&71LLEE D il .12.5 [ 0.28 0.50 0. 66 10 11 < < - 12 55 970 3,200(%8
801 | LA R2Eith T 2.4 5 0.53 0.40 0. 601 E 2 6 < < - 4 65 250 890|%8
802 [F1E@EM Ll .12.4 [ 0.39 0.50 0. 22 22 < < - 10 64 1, 800 5, 800(%&
803 |FE{EM;th H .12.4 = 0.29 0.80 0. 34 11 14 < < - 6 31 580 1,800/%&
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KEATRER BEEAEREE
S ﬁﬁﬂﬂg%éﬁrﬁ ﬁ&c%ﬂ??g%ﬁrﬁ - ﬁ&zﬁfrﬁﬁi%ﬁ);‘%ﬁ
No. & mETA | EER | XE [ZRRE| Lo wmar  EWmE OBE 0SS (B3R (il il PP i€ EHEEK =
( S h 1 1 I I 132, bl
uSv/h) () P Com ) (me/L) (Ba/L) (Ba/L) /(z;mé) (%) (Ba/kg)
134CS 137CS 134CS 137CS 134CS 137CS
804 [AH@ BE )T H26.12.5 [ 0.49 0.40 0.10 83 4 4 <1 <1 - - 3 41 1,300 4, 200|218
805 [Ath(D BE)IH H26.12.5 [ 0.23 0.50 0.10 35 19 16 <1 <1 - - 8 58 2,300 1,700| (2B 8
806 [E dwilth BE)IH H26.12.8 | ki 0.10 — — — — — - - - - 6 42 220 110[eB 8 SRAERKHE KA
807 |FRE;M B8 )t H26.12.8 [ REE 0.09 0. 40 0.10 20 9 11 <1 <1 - - 8 57 280 860[ 2B 8
808 |Hhith BBt H26.12.6 [ 0.16 0.50 0.10 55 12 35 <1 <1 - - 12 53 1,800 5,800[f2B 8
809 [FNH/<EFM BBt H26.12.8 [ 0.13 0.30 0.10] 60LLE 2 4 <1 <1 - - 10 50 290 1,000[{E B &
810 [;E&sKith ABIIH H26.12.4 = 0.52 0.50 0.10] 60LLE 2 2 <1 <1 - - 10 51 2,400 1,700{t= B8
811 [#E1Lth BE)IH H26.12.5 & 0.39 — — — — — - - - - 6 47 390 1,300[f2 B2 BB KHE KA AL
812 |6 —F 3 BE)IH H27.1.23 [ 0.09 0.30 0.10 24 33 94 <1 <1 - - 4 67 680 2,400 18
0.40/ 60LLE 2 4 <1 <1 - - SRBOFEIIZHITTIEK
813 (B Lith ABIT H26.8. 19 fE 0.08 1.43 0.80] 60LLE 3 6 <1 <1 - - 7 61 2,200 6, 600| RILEHE
1.00] 604 E 4 7 <1 <1 - -




AR T2 6 FEEBIETREND-OMBAELFR (RPHX)
KERERE EEWERE
s HEEDERE | REEWERE | REEDE R
No. & wars | MER | KB (TR san mam mmE ®E SS i il R |axs G RIEL %
(m) (m) | (em (B  (mg/L) a a o] e ke
134CS 137CS 134CS 137CS 134CS 137CS
814 [AARILIS HA™ H26.10. 11| 1REE 0.06 0. 60 0.10 52 4 4 <1 <1 - 12 57 130 440[EE 5
815 [ILEAX Lok H26.10. 12| &5 0.15 0.20 0.10] 601k 3 4 < < - 6 29 30 20|52
816 |{ERIT= Lokl H26. 10. RES 0.11 0.90 0.10] 601k 3 3 < < - 5 42 350 1. 100258
817 [ A25 BT H26. 10. TREE 0.09 0.70 0.10 38 9 9 < < - 10 38 10 20025
818 |fMEH T HEA™ H26. 10. R 0.13 0. 60 0.10 100 2 1 < < - 10 62 430 1,400[EE 8
819 [—/ 1 HA™H H26.10. 11| fRES 0.12 0. 60 0.10 60LLE 6 4 <1 <1 - 10 48 240 120288
820 |B91525 HA™H H26.10. 11| fhEE 0.12 0.80 0.10 60LLE 1 1 <1 <1 - 10 66 470 1,500[EB 8
821 |15 HAH H26.10. 11| 1REE 0. 06 0. 60 0.10 61 6 4 <1 <1 - 12 50 130 40[E8E
822 |Hjg Eith H H26.10. 10| B& 0.09 0.50 0.10] 60LLE 2 3 < < - 0 61 470 1,400/ 8
823 |K#kith B4t H26. 10. 5 0. 0.30 0.10 82 11 9 < < - 0 60 420 1,300[E B2
824 =1Lt BT H26. 10. 5 0. 0.50 0.10 65 16 12 < < - 2 56 210 660|252
825 |skaEH M HA™ H26.10. 10| B& 0.08 0.30 0.10 60LLE 1 1 < < - 0 81 280 1,000[ES 8
826 [ith/ Ath HA™ H26.10.12| = 0.22 0.50 0.10 70 8 12 <1 <1 - 6 36 230 610[E8 5
827 | KyEM HA™H H26.10. 12 & 0.12 0.30 0.10 22 10 14 <1 <1 - 5 39 50 150|282
828 |f&IRith B+ i H26. 10. [ 0.10 0.30 0.10 17 30 29 < < - 8 49 140 390[EEE
829 [FhkiFKith B+ H26. 10. 5 0.16 0.30 0.10] 601k 2 4 < < - 1 34 40 160|252
830 |EET M BT H26. 10. 5 0.12 1.80 0.50 45 10 10 < < - 6 61 350 1,000/ &
831 |#iEHAh BT H26. 10. 5 0.10 0.30 0.10 60LlE 1 6 < < - 5 26 <10 O[ESE
832 Mt HA™ H26.10. 11 5 0.10 0.30 0.10 60 4 3 <1 <1 - 1 83 1,100 3, 300[28 8
833 [+ERA HA™H H26.10. 11 & 0.08 0.30 0.10 60LLE 2 2 <1 <1 - 6 58 160 540[E8 5
834 [ALLith HA™ H26.10. 10 5 0.10 0.80 0.10 43 8 1 <1 <1 - 10 13 790 2,500|2 B8
835 & it B+ H26.10. 10 &5 0.09 0.30 0.10 85 4 4 < < - 5 81 630 2,000[E5 2
836 _[#it ARt H# H26.10. 13| & 0.13 2.80 0.50] 601k 3 4 < < - 1 62 220 680|215
837 [[Ei5 T ith BT H26.10. 12| B& 0.06 1.00 0.10 60LlE 4 4 < < - 10 39 110 3N[ESE
838 [dh At HEA™ H26.10. 12| B& 0.08 0. 60 0.10 32 22 26 < < - 12 38 80 260[E8 5
839 |/KFiR HA™ H26.10.12| ®&5 0.08 1.00 0.10 60LLE 3 3 <1 <1 - 12 14 360 1,100[ES 8
840 |[RAM HA™H H26.10. 12 5 0.08 0. 60 0.10 42 15 12 <1 <1 - 12 46 280 890[E8 5
841 2T M kil H26.10.10[ = 0.10 0.50 0.10 60LL.E 3 3 <1 <1 - 12 51 330 1,000[ES 8
842 [0 H# H26.10. 11| K& 0.12 0.30 0.10] 601k 2 2 < < - 6 24 20 LN
843 | XAR B4t H26.10. 10 B& 0.12 .20 0.50 55 15 1 < < - 8 16 590 1,900/ 8
844 |31/ R¥E(E) BT H26.10. 10 B& 0.09 .50 0.50 60LLE 2 < < - 8 44 200 620|215
845 |§kiEKT HEA™ H26. 10. 11 5 0.08 0.30 0.10 80 5 8 < < - 6 29 30 80[EE R
846 |[F A HA™H H26.10.12| B 0.08 0.80 0.10 60LLE 4 2 <1 <1 - 8 31 60 190[2& 8
847 |5} HA™ H26.10. 11 & 0.18 0.50 0.10 55 2 3 <1 <1 - 8 40 30 150/ &2
848 [ingEm (T) B+ H26.10.9 [ 0.09 0.50 0.10 54 1 6 < < - 8 69 610 2,000[E5 2
849 [ithF H# H26.10.9 5 0.08 0.50 0.10 89 10 15 < < - 8 62 110 KENI T
850 | XA (F) BT H26. 10. 9 5 0. 11 0.50 0.10 58 9 9 < < - 11 60 500 1,500 58
851 [EEY HA™ H26. 10.9 & 0.20 0.50 0.10 57 8 4 < < - 10 54 650 2,100[2 88
852 XA HA™ H26.10.9 5 0.13 0.50 0.10 88 5 5 <1 <1 - 6 33 110 350[EE R
853 [k (TF) HEA™H H26.10.9 & 0. 26 0.30 0.10 60LLE 3 2 <1 <1 - 10 64 930 3. 0002858
854 |ISF B+ H26.10.10[ = 0.22 0.50 0.10 60LL.E 3 3 <1 <1 - 10 45 710 2,200[2 85
855 [dfiiLiith B+ i H26. 10. 5 0.26 0.80 0.10 38 30 34 < < - 6 32 460 1,400/ 8
856 [{R{%Hth H# H26. 10. i 0.18 0.40 0.10 68 6 5 < < - 6 47 10 T
857 [iROth BT H26. 10. [ 0.25 0.50 0.10 92 5 6 < < - 6 31 80 ANEEETS
858 |SEEh HEA™ H26. 10. = 0.19 0. 60 0.10 53 10 23 < < - 6 52 460 1, 400|282
859 |PqREih HA™ H26.10. 11 s 0.23 0.50 0.10 88 6 6 <1 <1 - 1 60 3,000 9. 100[2 88
860 |t HA™ H26.10. 11 5 0.17 0. 60 0.10 42 4 38 <1 <1 - 10 36 110 360[E8 5
861 |S &t HA™H H26.10. 11 5 0.14 0.50 0.10 40 11 12 <1 <1 - 12 22 30 WN|EEE
862 | SRt B+ H26.10. 11| B& 0.18 0.40 0.10 29 15 5 < < - 8 60 520 1,800/ &
863 [ZEith BT H26.10. 12| B& 0. 11 0.50 0.10 44 10 1 < < - 10 10 710 2,200[&E 52
864 [HEK:th BT H26.10. 12| B& 0.09 0.50 0.10 54 30 40 < < - 8 31 100 KBTS
865 |PHigk A ith HEA™ H26.10.12| ®& 0.08 0. 60 0.10 60LLE 2 2 <1 <1 - 10 50 500 1,500|E8 8
866 |fHaith HA™H H26.10.12| ®5 0.14 0.90 0.10 35 16 15 <1 <1 - 10 42 150 490[E8 5
867 |Hi5t HA™ H26.10. 12 5 0.09 0.50 0.10 76 4 6 <1 <1 - 5 31 170 EEET
868 | ikith B+ i H26.10. 12| &5 0.15 0.50 0.10 43 12 11 < < - 9 55 1,300 4, 20052
869 |5/ Mith B+ H26. 10. [ 0.17 0.80 0.10 96 2 4 < < - 4 63 90 KN T
810 [#1iA BT H26. 10. 5 0.18 0.50 0.10 43 10 10 < < - 5 13 1,000 3, 100[&E 52
871 [Jmith BT H26. 10. & 0.14 0.80 0.10 40 13 14 < < - 1 59 640 2,000[&E5 2




AR T2 6 FEEBIETREND-OMBAELFR (RPHX)
KERERE EEWERE
s HEEDERE | REEWERE | REEDE R
No. & wars | MER | KB (TR san mam mmE ®E SS i il R |axs G RIEL %
(m) (m) | (em (B  (mg/L) a a o] e ke
134CS 137CS 134CS 137CS 134CS 137CS

872 | AL =ESiGi H26.10. 12 5 0.13 0.50 0.10 48 9 1 <1 <1 - 10 70 1,000 3, 300|288
873 |ZERIIG EEokin H26.10. 12| &5 0.11 0.60 0.10 95 9 13 < < - 10 65 560 L 100|EE 5
874 |thidith Lokl H26. 10. 5 0.10 0.30 0.10] 60L1E 6 6 < < - 8 60 480 500|fESE
875 [HEpEM BT H26. 10. 5 0.10 0.50 0.10 74 4 4 < < - 10 63 700 2,200[%E 52
876 | EFHIS HEA™H H26. 10. 5 0.10 0.50 0.10 60 9 9 < < - 8 35 160 460[E8 5
877 |AZFDi HA™H H26.10. 11 5 0.09 0.30 0.10 53 1 1 <1 <1 - 8 41 90 290[E8 5
878 |—with HA™H H26.10. 11 5 0. 06 0.20 0.10 23 23 31 <1 <1 - 1 51 440 1,300[EE 8
879 I/ A HA™H H26.10. 11 & 0.12 0.50 0.10 60LL.E 3 3 <1 <1 - 1 29 40 130/ &2
880 [i&HA:th H H26. 10. 5 0.09 0.50 0.10 50 11 16 < < - 8 50 210 6/0|E5 2
881 |LLidith B4t H26. 10. 5 0.12 0.50 0.10 60LlE 1 6 < < - 8 66 610 1,900/ 8
882 |Efzith BT H26. 10. & 0. 11 0.50 0.10 63 11 9 < < - 8 14 1,000 3, 100[&E 52
883 [JK_Eith HEA™ H26. 10. 5 0.10 0.80 0.10 99 5 1 < < - 8 33 60 80[EE R
884 |&HH:M HA™H H26.10.12| ®& 0.17 0.40 0.10 18 5 15 <1 <1 - 6 52 110 30[EEE
885 |iZELLIM HA™H H26.10. 12 B 0.15 0.20 0.10 75 5 1 <1 <1 - 5 21 20 100|252
886 _[4A[R 15 B+ H26.10. 11| &5 0.08 0.50 0.10 57 1 9 < < - 5 84 410 1. 10028
887 |Z{Eith H# H26.10. 11| B& 0.21 0.60 0.10 50 3 5 < < - 5 32 20 80|52
888 |=ith B4t H26.10. 10| B& 0.12 0.50 0.10 31 18 15 < < - 8 38 80 23025
889 |HARIL2S BT H26. 6.9 = 0.07 0.50 0.10 60LLE 2 2 < < - 9 41 170 4025
890 |AAKRIL3E BT H26. 6.9 ) 0.09 0.80 0.10 60LLE 2 2 <1 <1 - 13 58 310 900[E8 5
891 [ILHATS HAH H26. 6. 11 ) 0.15 0.70 0.10 60LLE 2 1 <1 <1 - 5 21 110 290[E8 5
892 [J\K B+ h H26. 6.9 = 0. 11 0.70 0.10 60LL.E 3 3 <1 <1 - 10 49 270 690255
893 (/% B+ H26.6. 9 = 0.12 0.90 0.10] 601k 1 0 < < - 4 54 80 40|25
894 |{ERI2 & H# H26. 6. 12 5 0.10 1.50 0.50] 601k 3 2 < < - 10 68 1,100 3,000[&ES 2
895 | HI1E BT H26. 6. 12 55 0. 11 0.80 0.10 85 4 5 < < - 3 40 30 380[EBE
896 |fEHT BT H26. 6. 12 55 0.11 1.60 0.50 76 1 4 < < - 6 10 2,100 6,000[2& 2
897 [Tk H# H26. 6. 12 55 0.13 0.90 0.10 60LLE 3 2 <1 <1 - 10 63 1,500 4,400z B8
898 [mimsE HA™H H26. 6. 12 551 0.10 0. 60 0.10 25 21 20 <1 <1 - 5 30 110 320[E8E
899 [N B+ H26. 6. 12 I551 0.09 0.80 0.10 60LLE 1 1 <1 <1 - 4 45 130 400[E8 5
900 |B81515 H# H26. 6. 12 5] 0.12 0.60 0.10 67 1 6 < < - 6 64 710 2,000[E52
901 |HET BT H26. 6. ) 0.09 0.80 0.10 37 11 9 < < - 4 28 90 0285
902 |AKith BT H26. 6. = 0.1 0. 60 0.10 60LlE 2 2 < < - 10 12 820 2,200[2 88
903 [iRA M BT H26. 6. 10 ) 0.1 0.90 0.10 60LLE 3 2 < < - 12 69 220 590[E8 &
904 |35/ Aith HA™ H26. 6. 10 [ 0.12 — - - - - - - - 1 65 170 550[E8 R REEFKOE ERKF A
905 |iZELLIM HA™H H26. 6. 16 [ 0.15 0.80 0.10 60LL.E 2 1 <1 <1 - 2 42 990 2,600[28 5
906 | At H#f H26. 6. 11 = 0.10 0.80 0.10 31 14 1 < < - 2 31 40 130[E5E
907 |ZR#&ith H# H26. 6. 16 5 0.13 0.70 0.10 25 10 1 < < - 3 57 240 100|252
908 | EJm:th B4t H26. 6. 12 55 0.13 0.80 0.10 60LlE 4 2 < < - 10 55 380 1. 100258
909 | iRt BT H26.6. 17 & 0.11 0.90 0.10 51 1 1 < < - 4 49 820 2,200[t2 B8
910 [BAAII:s HA™ H26.6. 17 [ 0.10 0.80 0.10 60LLE 1 1 <1 <1 - 3 22 10 200[E8 5
911 |G HA™H H26.6. 12 ) 0.14 1.00 0.10 80 4 4 <1 <1 - 5 33 90 290[E8 5
912 |mfEt HA™H H26. 6. 12 551 0.10 0.70 0.10 68 6 1 <1 <1 - 3 68 650 1,800[&EEE
913 |5/ Jilits B+ H26. 6. 16 s 0.1 0.40 0.10 38 10 9 < < - 8 53 430 1,300z 8
914 |fi5 Eith H# H26. 6. = 0.09 0.90 0.10 65 3 9 < < - 12 59 240 100|252
915 [AhF.Eith BT H26. 6. = 0.11 0.90 0.10 60LlE 3 2 < < - 12 55 50 150[E58
916 |#hith/ A B+ H26. 6. = 0.15 0.90 0.10 31 33 31 < < - 6 35 80 260[E8 5
917 [B/ K (F) HA™ H26. 6. 10 551 0.14 0.90 0.10 60LLE 1 2 <1 <1 - 12 57 150 430[EEE
918 [#EFHT HA™H H26.6. 10 ) 0.13 2.10 0.50 60LLE 1 2 <1 <1 - 5 24 110 330[ESE
919 [AmE%% HA™H H26. 6. 10 = 0.15 0.30 0.10 39 10 28 <1 <1 - 12 44 30 NEEE
920 |{h#efiR H# H26.6.10 [ 0.19 0.50 0.10] 60LLE 2 3 < < - 2 61 670 1,800/ &
921 [B&/ A B4t H26. 6. 9 ) 0.13 0.80 0.10 40 12 11 < < - 2 54 380 1,000 8
922 |{Z FHHET BT H26. 6. 9 ) 0.12 0. 60 0.10 15 45 39 < < - 2 44 280 80 [EEE
923 |irgEm (E) BT H26. 6.9 = 0.13 1.40 0.50 60LLE 3 4 <1 <1 - 1 39 140 430[EEE
924 B/ A BT H26. 6.9 = 0.13 0.90 0.10 45 10 22 <1 <1 - 10 50 1,200 3, 300[2 88
925 |XAR (E) HA™ H26. 6.9 551 0.15 0.90 0.10 38 12 14 <1 <1 - 10 44 230 640[E8 5
926 |EHF kSt H26. 6. 9 5l 0.16 - - - - - - - - 0 68 670 2,000[E5 2 S KOV < $EKA A
927 [ B+ H26. 6. 16 5 0.21 - - - - - - - - 2 59 1,500 4,500[2 58 AR KOV < ERKA A
928 [ILIFH:Hh B4t H26. 6. 10 55 0.13 0.70 0.10 28 19 18 <1 <1 - 2 51 330 0[ESE
929 [RH:H BT H26. 6. 10 ) 0.11 1.40 0.50 68 10 10 <1 <1 - 6 62 650 1,800/ &




AR T2 6 FEEBIETREND-OMBAELFR (RPHX)

KEAERER EEHARE
1 . ;‘I"‘" Z[ElBKE W T ol 3B | 3 "’-ﬁhﬁ "’T *HY 2ok 27 iE =
No. % # TETA Al%E B Rz i Su/hy %2:3* hzﬁfﬁ ,,(ﬁjz;ﬁm%«; (sﬁg (rnSg /SL) Ba/L) Ba/L> 7k E,(iz)x (Ba/ke) EHEER &%
134CS 137CS 134CS 137CS (Gm) 134CS 137Cs

930 [BIEmEn EESi m6610] & 018 | 050 0.10 4 37 i 4 4 = T 17 59 640] 1,800/ BEE
931 |25 =l H26.6.10 | & 0.12] 080 010 5 5 4 < < = = 0 6l 420 1.200[/5B8
932 [E=RIE =l H26.6. 10 | & 0.13 ] 070 010 BOLLE 2 5 < < = = i 55 430 1.300[i5B 8
933 [E/ &3 li H26.6.11 | &= 0.74 ] 050 010 60LLE 3 7 < < = = 0l 5 180 50[iEE 8
934 [T ik R26.6.10 | = 074 040 010 60LLE 2 3 < < = = 3] 64 700 1.900568
93 [BEXh ik 26610 | = 0.12] 000 010 56 8 5 4 34 = = 8] 58 670 190068
936 [t ik 266 10 | & 0.75] 060 010 67 6 4 4 4 = = 6 60 660, 20003568
937 [laRnls ik H266 10 = 0.70] 050 010 19 2 18 4 4 = = 6§ 30 780 JRUEEEY
938 [BHER =l H26.8.20 | 8 017 110050 BOLLE 4 7 < < = = 8] 59 1,600 4.800[ =t 2B
939 |8 () EHH H26.8. 21 | 8 035 012 010 60LLE 2 3 < < = = 8] 68 3.500__10,000[ =t B KR
940 |+ (k) ERny H26.8.20 | % 0.23 | 043 0100 60BLE < ! < < - - 8| 66 470 1,300 RALEKR

3 .8. L] . - R 60LIE 2 2 <1 <1 - - i ~
91 [FE (B EEShg M6820| 7 025 040 0.10] 60LLE 4 i 4 4 = = 8 79 2,400 1,000 B ERRE
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KERERE EEAERE
—_— myg?g%;%rﬁ myg?g%%rﬁ s HE#’EE&%FE);‘%E
No. & W mETH | RMER | KE | TRO| 2kE HKkR BRE BE 0SS il o B gk 45 EHEEE e
T m) (em (B me/b) (Ba/L) (Ba/L) P S (Ba/ke)
134CS 137CS 134CS 137CS 134CS 137CS
947 |[REm BRET f26.10.23| & 0.10 0.40__ 0.10 28 71 22 < [ < < 8 56 1.400 4400 zBE
043 [Eith SBREET 126.10. 22| 0.08 | 050 010 29 K 18 < < - - 9 [ 56 300 950[1E 5 5
944 [mah BRE 126.10.22| 0.09 [ 060 0710 23 22 30 < < - - A 100 30[EEE
945 |FXth SERET H26.10.22| 7 0.1 080 010 21 11 15 < < - - 9 56 990 3 200[i2BE
946 |34 85 BT H26.10.22| ™ 0.10 0. 60 0.10 60LLE 2 2 < < - - 2 29 20 60| BB E
947 |[FEith SERET H26.10. 23 S 0. 11 0.40 0.1 23 22 33 <1 <1 - - 7 48 210 8I0[EEE
948 | K3 SERE H26.10. 23 & 0.11 0.40 0.10 21 30 31 <1 <1 - - 10 62 810 2,600[{EE 2
949 [fE/ N1 Fr=Lil H26.10.22| ™ 0.12 0.80 0.10 43 5 10 <1 <1 - - 7 40 350 1,200[f2 B8
950 [ =3t BREE 126.10.22| 013 080 010 39 6 17 < < - - o 790 2,30055 %
951 [#ith SERE H26.10.22]| ™ 0.17 0. 40 0.10 52 2 9 < < - - 7 33 10 210[4E B8
952 &% SERE H26.10.22] ™ 0.11 0. 40 0.10 43 1 19 < < - - 4 36 40 140[F2BE
953 |—H&tn SERET H26.12.6 | & 009 060 010 60 5 4 < < - - 6 57 540 1.8002BE
954 | HHith 55 BT H26.12. 6 5 0.08 1.20 0.50 45 7 8 <1 <1 - - 9 10 700 2, 300|288
955 |5/ i Frg=Lil H26.12. 4 5 0.15 0.80 0.10 70 5 8 <1 <1 - - 6 38 240 80|tz E 8
956 |Fr ot SBREET H26.12.4 | = 013 200 050 2 i i5 < < - - 8 56 270 870[E5 5
957 Il SBRET H26.12.5 | 15 0.22 [ 040 010 48 9 10 < < - - 8 47 840 2. 600552
958 [/\&yY) ith 1 SERE H26. 12. 6 s 0.11 0.80 0.10 60 3 5 < < - - 5 63 590 1,900[E B2
959 [ AR5 2 SEAE H26.12. 4 ) 0.19 2.20 0.50 55 3 4 < < - - 8 63 1,000 3, 200[t2 B8
960 [KEA# 1 S5 T H26.12.4 & 0.15 0.70 0.10 60LLE 3 5 <1 <1 - - 10 55 540 1, 7004252
961 [CHA SERET H26.12.4 | & 0.18 — — — — — - - - - 5 49 2,200 7.400[2BE B KD KT A
962 &Mt &5 BT H26.12.5 & 0. 11 0.50 0.10 20 16 18 <1 <1 - - 12 58 1, 000 3,500[EE 2
963 [F X SBRE H26.12.6 | 15 0.1 - — = = = - - - - 5] 5 1,200 3,000/aB8 FEE KO K A
964 |t SBREE H26.12.4 | & 0.10 | 070 010 60BLE 5 6 < < - - 6] 6 600 L 800[E5 5
965 /Mg SERE H26.12.5 s 0.14 1.20 0.50 16 2 1 < < - - 6 54 390 ,300[{EBE
966 [&= ERAT H26.12.5 | = 029 030 010 42 4 3 < < - - 8 55 7,800] 25,0002 B &
967 |[fBE: SERET H26.12.5 | & 0.12 130 0.50 28 18 32 <1 <1 - - 2 60 1,400 4, 600258
968 [i# % ith SERE H26.12. 6 [ 0.08 1.50 0.50 82 2 1 <1 <1 - - 8 65 460 1,600/ 28
969 [ Z iRt Frr=L H26.12.5 & 0. 11 0.70 0.10 25 10 13 <1 <1 - - 7 60 910 2,900[E 52
970 [REEH BRE H26.12.5 | 15 0.21 [ _1.00 010 50 6 9 < < - - 7139 470 500[iEBE
971 [Ekith SERE H26.12.5 s 0.16 0.70 0.10 42 6 5 < < - - 8 45 450 ,b00[{E B 5
972 |[=vith SERE H26.12. 6 s 0.09 0.70 0.10 58 4 3 < < - - 8 58 440 LA00|EE R
973 [twith 55 BT H26. 12. 6 5 0. 11 0.80 0.10 31 6 6 < < - - 10 52 210 830|t2 B8
974 [3h:Fih $5 T H26.12.5 [ 0.45 0.70 0.10 80 3 3 <1 <1 - - 8 21 250 820[EEE
975 [F#XKith SEAET H26.12. 6 & 0.12 0.70 0.10 29 7 6 <1 <1 - - 3 68 1, 200 4,100(EE 2
976 [FH 2 BRE H26.12.6 | 15 0.07 | 070 010 53 7 10 < < - - T 4 170 580[1E 5
7T [FRH: SBRET H26.12.6 | 15 0.13 [ 050 _0.10 6OBLE i 0 < < - - 7] 58 570 _800[1E 5
978 |h/hEith SERE H26.12. 6 & 0.14 0.50 0.10 32 12 12 < < - - 4 44 490 L600[{2 5
979 [&Z/ith SERE H26.12.5 s 0.08 0.70 0.10 22 12 15 < < - - 5 45 510 LJ00[EE R
980 [E3A ith 85 BT H26.12. 4 & 0.09 1.00 0.10 13 22 49 <1 <1 - - 6 40 80 210|128
981 [F/ith Frg=L H26.12. 6 & 0.14 0.40 0.10 37 5 10 <1 <1 - - 10 55 30 N




A1 T2 6 FEHBETREND-OMAELR (RPHX)
KEAERR EERERSR

S BERERE | RHERERE | BAERERE
No. £ B wmEH | MER | KR |TRRE| ek mk® BEE OBE  SS (DBl (D RR | gk x e EL %

( Sv/h ’ £’ I3, 3= T

S e ) Cem () g/ Ba/L) Ba/L) RS | "o (Ba/ke)
134CS 137CS 134CS 137CS 134CS 137CS

982 | Fith REH H26. 10. 21 5] 0.14 0.80 0.10 63 8 8 <1 <1 - - 10 45 360 1,200[E B8
983 |db/MEith REH H26. 10. 2 = 0.28 0.50 0.10 56 5 5 < < - - 8 74 . 400 4300|852
984 |RE Mt REAH H26. 10. 2 = 0.43 0.40 0.10] 60LLE 2 2 < < - - 5 63 . 300 4, 300|152
985 |iZRiRith REH H26. 10. 2 5] 0.12 0. 60 0.10 64 12 8 < < - - 1 46 . 900 6,000[2 52
986 |= / &with REH H26. 10. 2 = 0.53 0.50 0.10 60LLE 3 2 < < - - 2 31 . 000 3,400[ B8
987 [tEMth KEH H26.10.22| ©R 0.37 0.50 0.10 35 12 16 <1 <1 - - 6 55 1,200 3, 100|285
988 [ rEM REH H26.12.8 | 1hEE 0.64 0.42 0.10 60LL.E 1 0 <1 <1 - - 5 31 1,100 3. 700|858
989 |ih 4 Aith REH H26.12.8 | 1REE 0.32 0.35 0.10 60LLE 1 1 <1 <1 - - 8 63 2,100 71,100[2& 2
990 [EEE X L KR H26.8.19 [Eh o/ 0.11 8.20 0.50 45 6 8 <1 <1 - - 8 38 140 BNEZE: T:95)
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AR T2 6 FEEBIETREND-OMBAELFR (RPHX)

KEAERR EERERE
. BOEMERE | BHEDERE | AT DE R
No. 2 wirs | mER | x& |FRE|axe g mmE mE ss i il R |axs R ST s
(m  (m)  (em (B  (mg/L) d a o] e ke
134CS 137CS 134CS 137CS 134CS 137CS

991 |F#XM A JIET H26.10. 28 & 0. 11 0.50 0.10 83 1 4 <1 <1 - - 10 40 330 1,000[2 B2

992 [#ith A JIIET H26.10.28 [ B& 0.08 0.60 0.10 30 15 20 < < - - 2 49 140 RIN T

993 |+=ixith A JIIET H26.10.28 | B& 0.06 0.50 0.10] 601k 6 6 < < - - 0 58 240 50|52

994 |7 F O R A JIET H26.10.28 | B& 0.07 0.50 0.10 25 19 24 < < - - 2 55 170 5/0[EE R

995 |XILFEih &I H26.10.27| B& 0.09 0. 60 0.10 60LLE 5 3 < < - - 0 58 200 620[E8 5

996 |71l =7ILSS H26.10.28| H& 0.08 0.50 0.10 78 4 3 <1 <1 - - 8 56 270 80[EE R

997 |E A B )1 H#T H26.10. 28 & 0.06 0. 40 0.10 59 8 8 <1 <1 - - 6 51 260 890[E8 5

998 AT No. 1 A 1| T H26.10. 27 & 0.07 0.50 0.10 62 8 6 <1 <1 - - 4 30 50 140|282

999 | E@ith AJIET H26.10.27| &5 0.07 0.50 0.10 44 9 11 < < - - 10 63 500 1,500z &

000 [/hMEIS D ith A JIET H26.10.27| &5 0. 11 0.30 0.10 28 35 48 < < - - 10 54 180 560[E 82

001 [=&:th A JIET H26.10.27] B& 0.07 0.50 0.10 76 4 6 < < - - 6 30 40 130[E552

002 [ERA$T# No. 2 &I H26.10.27] B& 0.07 0.80 0.10 23 10 9 < < - - 6 54 280 920[E8 8

1003 [ED:th =PILS H26.10.27| ®& 0.07 - - - - - - - - - 6 31 50 N REEFKOE ERKT A
1004 | =it B 1 H#T H26.10. 29 & 0.07 0.50 0.10 50 10 12 <1 <1 - - 10 44 110 30[EEE

005 |& / Wit A JIIET H26.10.29| #& 0.08 0.40 0.10 53 60 61 < < - - 9 52 340 1. 100288

006 |#R S Hilth AJIIET H26.10.29| &5 0.08 0.60 0.10 12 9 8 < < - - 11 61 280 860|215

007 |SF ALt A JIET H26.10.29| B& 0.08 0.60 0.10 21 2] 35 < < - - 11 65 470 1,500 58

008 [FTEE A)IE H26.10.28 | B& 0.10 0. 60 0.10 12 1 5 < < - - 8 35 60 20025

1009 [ith/ Ath =7ILS H26.10.28| ®& 0.08 1.50 0.50 51 14 15 <1 <1 - - 10 62 330 1,100[ES 8

1010 [FREH =WlIL H26.10. 28 & 0.11 0. 60 0.10 51 5 4 <1 <1 - - 4 61 900 2,900|2 B8

1011 |— iR ith B 1 H#T H26.10. 28 & 0.07 0. 60 0.10 63 8 5 <1 <1 - - 6 60 250 180|1E &2

012 | g #eith AJIIET H26.10.27| B 0.09 0.40 0.10 38 13 11 < < - - 10 32 90 320[w=8E

013 [dLiFRED M A)IIET H26.10.27| B 0.10 0.40 0.10] 601k 6 4 < < - - 6 28 20 NEEET

014[{12—-F2 A JIET H27.1.23 5 0.10 0.30 0.10 68 3 2 < < - - 3 53 00 KEN G

015|15—F 1 A JIET H27.1.23 5 0.10 0.30 0.10 81 3 6 < < - - 1 82 10 380[&EE R
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ARl T2 6 FEEHETRENDE-OMBAERER (RHHX)
KEAERE EERERE
s HEEDERE | REEWERE | R ERE
No. & W wirs | mER | x& |FRE|axe g mmE mE ss G G R |axs G S E i
(m  (m)  (em (B  (mg/L) d a o] e ke
134CS 137CS 134CS 137CS 134CS 137CS
1016 [FiE EJES H26.10. 29 5 0.10 0. 60 0.00 17 35 29 <1 <1 - 12 51 210 840|:2 B8
017 [#A S EIIA H26.10.29| B& 0.08 0.50 0.00 30 12 13 < <1 - 12 57 290 BIEEET
018 |7 Sith EIIH H26.10.29| #& 0.09 - - - - - - - - 5 55 140 480[= 858 A KO < ERAKF A
019 [FR4EFith E H26.10.28 | B& 0.10 0.60 0.00 49 5 8 <1 <1 - 12 62 800 2, 100|288
020 [#p<ith EN H26.10.28 | B& 0.12 0.70 0.00 60LLE 3 4 <1 <1 - 12 57 2,700 9,000|2B 8
1021 |38/ % EN H26.10.28| ®& 0.15 0. 60 0.00 60LLE 2 3 <1 <1 - 10 48 460 1,500 52
1022 (&5 & E H26.10.28 | B& 0.14 0. 60 0.00 48 8 5 <1 <1 - 10 53 400 1,300[f2 B2
1023 [ 4Tt E H26.10.27[ B 0. 11 0.80 0.00 62 2 2 <1 <1 - 8 47 320 1,100[f2 B2
024 [ AERM E H26.10.28| = 0.14 0. 60 0.00] 601t 4 3 < < - 12 60 140 (N
025 |Afith E H26.10.28] = 0.09 0.60 0.00 21 22 18 < < - 12 59 680 2,200[12 82
026 |7Eith EN H26.10.28] = 0. 11 0.60 0.00 52 9 8 < < - 8 49 810 2,600[2 88
027 |%Fith EJ H26.10.28] = 0.10 0. 60 0.00 12 2] 21 < < - 8 21 60 220|2B 8
1028 [=with EN H26.10.27] = 0.12 - - - - - - - - 5 30 440 1,400[2 52 AERE KA ERAKFA
1029 [Fith EI H26.10.29[ B 0.07 0. 40 0.00 42 8 7 <1 <1 - 12 65 290 0[S E
030 |FR=E E H26.10.28 [ B& 0. 0.70 0.00 38 14 20 < < - 0 50 770 2,400[2 88
031 |7k et E H26.10.27] ©& 0.12 0.80 0.00 50 4 4 < < - 2 57 620 2,000[=8 &
032 | &&=t E H26.10.28] = 0. 14 0. 60 0.00 60LLE 2 3 < < - 2 49 630 2,000[z 82
033 [ EE S HERE E] 126.10.28| & 0.74 | _0.60___0.00] BOKLE 1 3 < < = 06l 4101, 400[iaB 2
1034 [ HS T EJ H26.10.28] = 0. 11 0. 60 0.00 4 10 6 <1 <1 - 12 53 490 1,600[25 2
1035 [FifE EJIH H26.10.27] = 0.11 0.80 0.00 63 8 3 <1 <1 - 10 51 220 150|EE R
1036 [9—F 2 EJ[IES H27.1.23 & 0.08 0. 40 0.10 18 29 150 <1 <1 - 3 63 520 1,800[f2B 2
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o o) (Ba/L) (Ba/L) o (Ba/ke) RipEH "%
134CS 137CS 134CS 137CS 134CS 137CS
1037 | F& (FAE 4 < - 63 700 2,300|FEE &
18 < - 6 27 40 1!
15 < - 12 57 220 !

H|H|H

1038 [#T:2 A (5 2 BALY)

1039 [YE4 (XS5 F(EF=11)
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AR T2 6 FEEBIETREND-OMBAELFR (RPHX)

KEATRER BEEAEREE
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No. & mETH | MR | K |[ZERE| aom mkm BEE O BE SS (B3R (58 BRI | o (]2if EHEEHA e
(uSv/h) 7 [AR/NG Iz 4= For) =
usv ) () Com () (me/L) (Ba/L) (Ba/L) /(z;mé) (%) (Ba/kg)
134CS 137CS 134CS 137CS 134CS 137CS
1040 | XL 18 % )| BT H26.10. 19 & 0.06 0.50 0.10 97 7 6 <1 <1 - - 7 50 200 640|t2 B8
041 [thiEkith 2 B % )| BT H26. 10. 19 [ 0. 11 0.50 0.10] 60LLE 4 4 < < - - 10 64 600 1,900[f2 B8
042 |F it % )| BT H26. 10. 19 [ 0.07 0.50 0.10 68 8 8 < < - - 2 35 40 130[fE B8
043 [#¥A1L5h % )| BT H26.10. 19 [ 0.12 0.60 0.10 50 8 1 < < - - 8 78 1,100 3,500/ B2
044 [IF< Lt EIL] H26.10. 19 [ 0.09 0.40 0.10] 60LLE 5 5 < < - - 4 61 50 160[t2 B8
1045 |+ B AE % )[BT H26.12.9 [ 0.14 0.39 0.10] 60LLE 1 0 <1 <1 - - 6 23 <10 N[EEE
1046 3R/ Bl 1 Bt % )| BT H26.12.9 & 0.12 0.47 0.10 68 4 4 <1 <1 - - 8 59 580 2,000/t2 B8
1047 ,E#%15 % )| BT H26.12.9 & 0.12 0.38 0.10 30 9 10 <1 <1 - - 10 60 770 2,400|t2 B8
1048 [RI&ith % )| BT H26.12.9 [ 0.13 0. 41 0.10 34 5 6 <1 <1 - - 8 38 470 1,600[f2 B8
1049 4R 15 % )[BT H26.12.9 | ke 0.10 0.37 0.10 80 3 3 <1 <1 - - 10 58 210 100[e B8
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AR T2 6 FEEBIETREND-OMBAELFR (RPHX)

KEAERE EERERE
S BERERE | RHERERE | BAERERE
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(usv/hy ) (m) | (em (B (mg/L) (Ba/L) (Ba/L) /(z;mé) (%) (Ba/kg)
134CS 137CS 134CS 137CS 134CS 137CS
1050 | KA B ET H26.12.9 [ 0.17 0.44 0.10 60LAE 2 2 <1 <1 - - 10 52 1,200 3, 7100[{EE 2
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T0RE sk =21 6128 1 ¢xi | 0.271 0.60 010/ GOLLE 2 2 < 4 - 6 20 1.300[18BR
059 [XRE = s 9 L] 0.41 0.60 _ 0.10_ 60LLE 1 0 3 3 - : 59 1,000 3,300 8B &
060 | RH B0 =iE H26-1122.18 & 014 080 010 70 5 5 2 2 - - 40 1,300 4,000[8B&
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1077 ﬁg;"-’ :gg ﬂ%glﬁg z 0.36 | 0.60 __0.10_ 60BLE i i < 21 = ‘g 54 2,000 6.600[taBE
1078 [ILI&E =30 fize.12.9 = 042 [ 060 010 60LLE 3 3 < < - Lz 110 KIINECT T3
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08612 A = 61291 0.42] 060 010 48 i 15 4 < = 5 130 ZEET T
= 2. 5 040 060 010 82 1 4 < 34 5/ 380 1,300[aBE
- 10 46 670 2. 20052
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AR1 FR2 6 FEMMIERRENDI-OMAERKE (BEFiX)
KE R R EEALRER
S ﬁ&(%ﬂﬂé%iﬁfi mmg%%rg - ﬁ&zﬁfrﬁﬁi%ﬁ);‘%g
No. & TEAT | BIER | KB [ ZRE | aaem smaom | mmE BE 0SS (B3R (il RE | 2ok (82 e ESY e
( S h 1 1 I I 132, bl
uSv/h) () P Com ) (me/L) (Ba/L) (Ba/L) /(z;mé) (%) (Ba/kg)
134CS 137CS 134CS 137CS 134CS 137CS
1087 &R /NEFET H26.10. 29 & 0.13 0.60 0.00 37 10 9 <1 <1 - - 7 25 20 60|z B8
088 [RAFEM /NEFET H26. 10. 31 [ 0.12 0. 60 0.00/ 60LLE 4 4 < < - - 2 66 500 1,500[f2 B8
089 |4t /NEFET H26. 10. 29 [ 0.12 0.40 0.00 18 47 35 < < - - 2 52 210 650[fe B8
090 [Z=1E /NEFET H26. 10. 29 [ 0.08 0.60 0.00] 60LLE 3 4 < < - - 0 53 110 JI0[REE
091 [ 4 1R /NEFET H26. 10. 29 [ 0.10 0.90 0.00 26 10 13 < < - - 6 48 2,600 8,200/ B8
1092 X AIRith /NEFET H26.10. 29 [ 0.10 0.60 0.00 51 1 li <1 <1 - - 12 64 230 660|128
1093 [#R:Rth /NEFET H26.10. 29 & 0.09 0.80 0.00 60LLE 2 1 <1 <1 - - 9 67 170 510|f2E 8
1094 [k / With /NEFET H26.10. 29 & 0.11 0.60 0.00 40 10 9 <1 <1 - - 6 66 360 1,200[f2 &2
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